20240034 - Well Rehabilitation Services Cost Work Sheet - Schedule A

Item No.	Description	Units
1	Mobilization, Demobilization	LS
2	Insurance, Permits, and Administrative Costs	LS
	Site Preparation and Restoration: Fence and Pump House Roof Access	
3	Panel Removal and Installation; Kill Artesian, Maintain Leaks, and Restore	LS
4	Disconnect and remove pump, column pipe, and monitoring equipment	LS
5	Install and Remove Discharge Line	FT
6	Geophysical Logging	LS
7	Video Logging	LS
8	Conduct 4-Hour Single Packer-Pumping Test with Water Quality Sample Collection and Analyses from Packed Interval and Annular Space	LS
9	Conduct 4-Hour Double Packer-Pumping Test with Water Quality Sample Collection and Analyses from Packed Interval and Annular Space	LS
10	Back-Plugging Cement Grout - Installed	CY
11	Back-Plugging Gravel and Sand - Installed	CY
12	Acidization	LS
13	Well Development	HRS
14	Specific Capacity Testing with Water Quality Sample Collection and Analyses	LS
15	Disinfection	LS
16	Site Restoration (Grading and Sod)	SF
17	Install and Reconnect Pump and Column Pipe and Recertify the Well	LS
	Total Amount	

Acknowledged all Addenda Submitted original 5% Bid Bond Copy of current insurance Review & accepted all City terms and conditions Submitted licenses required to bid Submitted questionnaire Submitted all required forms Listed 5 projects similar to this project completed by your firm Submitted cone of silence form Submitted the vendor code of ethics Has the bidder or any of its principals ever declared bankrupt or reorganized under Chapter 11 or put in receivership? Any pendng or completed lawsuits involving the corporation, partnership or individuals with more then 10% interest. List any judgements from lawsuitsin the past 5 years Any criminal violations and /or convictions of the proposer and /or its principals

All	Layne Christensen Co.						
Est. Qty.	Unit Price	Total	Est. Qty.	U	nit Price		Total
1	\$15,000.00	\$15,000.00	1	\$	7,300.00	\$	7,300.00
1	\$10,000.00	\$10,000.00	1	\$	1,500.00	\$	1,500.00
1	\$20,000.00	\$20,000.00	1	\$	19,300.00	\$	19,300.00
1	\$25,000.00	\$25,000.00	1	\$	1,650.00	\$	1,650.00
200	\$50.00	\$10,000.00	200	\$	8.50	\$	1,700.00
1	\$15,000.00	\$15,000.00	1	\$	25,050.00	\$	25,050.00
1	\$7,500.00	\$7,500.00	1	\$	10,800.00	\$	10,800.00
2	\$15,000.00	\$30,000.00	2	\$	14,600.00	\$	29,200.00
2	\$17,500.00	\$35,000.00	2	\$	19,500.00	\$	39,000.00
25	\$600.00	\$15,000.00	25	\$	2,328.10	\$	58,202.50
5	\$2,000.00	\$10,000.00	5	\$	1,250.00	\$	6,250.00
1	\$40,000.00	\$40,000.00	1	\$	68,750.00	\$	68,750.00
40	\$300.00	\$12,000.00	40	\$	811.00	\$	32,440.00
3	\$2,333.33	\$7,000.00	3	\$	14,600.00	\$	43,800.00
1	\$5,000.00	\$5,000.00	1	\$	20,750.00	\$	20,750.00
100	\$10.00	\$1,000.00	100	\$	118.00	\$	11,800.00
1	\$15,000.00	\$15,000.00	1	\$	14,600.00	\$	14,600.00
	TOTAL	\$272,500.00	_	ТОТ	ΔL	\$	392,092.50

YES
Yes
NO
NO
NO
NO

YES
NO
Yes
NO
NO
NO
NO

A.C Schultes of Florida ,Inc.				Florida Design Drilling, LLC.			
Est. Qty.	Ur	nit Price		Total	Qty.	Unit Price	Total
1	\$ 1	20,000.00	\$	120,000.00	1	\$35,000.00	\$35,000.00
1	\$	36,000.00	\$	36,000.00	1	\$50,000.00	\$50,000.00
1	\$	24,300.00	\$	24,300.00	1	\$35,000.00	\$35,000.00
1	\$	15,100.00	\$	15,100.00	1	\$25,000.00	\$25,000.00
200	\$	18.00	\$	3,600.00	200	\$25.00	\$5,000.00
1	\$	22,000.00	\$	22,000.00	1	\$7,500.00	\$7,500.00
1	\$	5,000.00	\$	5,000.00	1	\$3,500.00	\$3,500.00
2	\$	32,500.00	\$	65,000.00	2	\$50,000.00	\$100,000.00
2	\$	35,000.00	\$	70,000.00	2	\$60,000.00	\$120,000.00
25	\$	900.00	\$	22,500.00	25	\$2,500.00	\$62,500.00
5	\$	300.00	\$	1,500.00	5	\$2,500.00	\$12,500.00
1	\$	68,600.00	\$	68,600.00	1	\$50,000.00	\$50,000.00
40	\$	375.00	\$	15,000.00	40	\$500.00	\$20,000.00
3	\$	14,000.00	\$	42,000.00	3	\$12,500.00	\$37,500.00
1	\$	14,350.00	\$	14,350.00	1	\$5,000.00	\$5,000.00
100	\$	11.00	\$	1,100.00	100	\$10.00	\$1,000.00
1	\$	26,900.00	\$	26,900.00	1	\$22,500.00	\$22,500.00
	TOTA	AL	\$	552,950.00		TOTAL	\$592,000.00

YES
Yes
NO
NO
NO
NO
· · · · · · · · · · · · · · · · · · ·

YES
Yes
NO
NO
NO
NO